& AR E A A

20198 & 20 & 22N SE3|H A6t Ab
2N Aol AIE A
Ny ZRolAT B2
Sl BBIALTAIL el (FEMH SBEH) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Aol AP A 7,593,357 7,744,243 A 150,886
Dl 4,009,675
= 3,583,682
=230l % 22l 5,192,393 5,074,034
J| 1,608,711
= 3,583,682
220 AIE 22 (2N SEIH) 5,192,393 5,074,034
J| 1,608,711
= 3,583,682
I =ZANE 29 4,262,000 4,032,000
J| 978,318
= ,283,682
201 et 9| 175,000 175,000
J| 70,000
= 105,000
01 AR 22l ] 35,000 35,000
OJI=2 Mg 35,000
— 22 Y| 35,000,000 35,000
J| 14,000
= 21,000
02 232d%4| 140,000 140,000
OJI=2AMg 140,000
— A& & Hl S XlH] 140,000,000 140,000
J| 56,000
= 84,000
202 044l 7,000 7,000
J| 2,800
= 4,200
01 2L Y| 7,000 7,000
OJl=a Mg 7,000
— 220X Ad EH 7,000,000 7,000
J| 2,800
= 4,200
307 gizto| A , 120,000 2,600,000
J| 624,000
= ,496,000
05 QIZtRES , 120,000 2,600,000
OJl=a Mg , 120,000
— 220l HelANE2Y 2te|
3,120,000,000& , 120,000
Jl 624,000
= ,496,000
401 Al EHI L 204 960,000 1,250,000
J| 281,518
= 678,482




2N Aol AIE A
Ny ZRolAT B2
Sl BBIALTAIL el (FEMH SBEH) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 955,680 1,240,838 A 285,158
OJI2 ML 955,680
— S XU A(SHES 2 7THA)
400,000,000 400,000
J| 120,000
= 280,000
— 220t % A&EEH A 555,680
S3olEHMHelAlE &Y B
198,560,000 198,560
J| 60,000
= 138,560
- oHQIAF 220tE=H2lAIE D &X
99,100,000 99,100
J| 30,000
= 69, 100
< ZHLADEJIOF 2238t XelAlE CCTV
wH 59,460,000 59,460
J| 18,000
= 41,460
CEH Y HEEHIAL SS&H B4
198,560,000 198,560
J| 53,518
= 145,042
03 AlE 201 | 4,320 9,162 N4, 842
OJla Mg 4,320
— S 230ctXeld AdIH 4,320
S3olEHMelAlE &Y B
200,000,000& =0.72/100 1,440
HOIAF 223t H2IAlE D &X
100,000,000 *«0.9/100 900
c ZHLADEJIOF 2238t KelAlE CCTV
wH 60,000,000 %x0.9/100 540
CEH Y MEEHIANAE SSAEYH B4
200,000,000€ =0.72/100 1,440
ZTTotaMelAE ALY ot+E Zl 300,000 250,000 50,000
401 AIEHIZL 201 Y| 300,000 250,000 50,000
01 Al&H| 297,300 247,660 49,640
S20tXHelAlE 2 dtx=22 FH|
99,100,000 99,100
OZ23otE=HelAlE U ol =4
99,100,000 99,100
OZ23otE=XHelAlE =8 A 99,100,000 99,100
03 AlE 20| 2,700 2,340 360
O23ot=HMHelAld8 29U st=22 &H|
100,000,000€ *x0.9/100 900
OB3ot=HMHelAld YUl ot &4
100,000,000& *x0.9/100 900
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SEELERENFIEEEL
100,000,0002 *0.9/100 900
g8 X3 AS 630,393 742,034 A 111,641
| 630,393
101 1A bl 19,575 10,750 8,825
J| 19,575
04 JIZHHZ2XNHEE S 19,575 10,750 8,825
OJI3 A 19,575
—EH EONAAY FA L ASBR
24 19,575
| 19,575
202 o4dl 2,062 2,062 0
| 2,062
01 = LH o4 1l 2,062 2,062 0
OJI3 ALY 2,062
— Y8 FOXJAAG AEHEA 2,062
| 2,062
401 Al HI & 28I 608,756 729,222 A 120,466
| 608,756
01 A& HI 602,181 721,346 A 119,165
OIS At 602, 181
— Y=g 2t FAUXJAY 602, 181
| 602,181
03 AIE 2 0HHI 6,575 7,876 A 1,301
OJIS AL 6,575
—GEH Au FDIX ALY 6,575
| 6,575
MEES (Aot AIEA) 2,400,964 2,670,209 A 269,245
| 2,400,964
HEHAHXES (=ML SE3H) 2,400,964 2,670,209 A 269,245
J| 2,400,964
LB HEES 2,400,964 2,670,209 A 269,245
J| 2,400,964
701 JIEt3I HESEES 2,400,964 2,670,209 A 269,245
| 2,400,964
1JIEt2l HEEZ 2,329,213 2,577,697 A 248,484
OJI3 A 2,329,213
—8&3 otx=22 HHIAY 519,000,000 519,000
J| 519,000
— JlOIOE2 B3ot=HMlAlE SEAY
827,000,000& 827,000
J| 827,000
— et sSHEOISot=5 ZHIAY
136,000, 000& 136,000
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Jl 136,000
—EZIZANER2Z 750,983
=2 A 644,549,000& 644,549
J| 644,549
s Ml Al4 106,434,000& 106,434
J| 106,434
—gsgad 82,230
Ol & It 52,250,000& 52,250
J| 52,250
HHE42 A2 2LEHEH  29,980,000& 29,980
J| 29,980
— otEGt2 M Dl EEALY 14,000,000& 14,000
J| 14,000

02 BILELIIHNZNEES 71,751 92,512 220,761
OJIS A 71,751
— &3 ESFY 22 AY 71,751,000& 71,751

Il 71,751




